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STACK Assessments in 1st Year Courses

Semester 1:
Introduction to Linear Algebra (ILA) ~ 600 students

Mathematics for Natural Sciences 1a (MNS) ~ 150 students

Semester 2:
Calculus and its applications (CAP) ~ 500 students

Engineering Mathematics 1b (EM) ~ 300 students
Mathematics for Natural Sciences 1b (MNS) ~ 150 students
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Introduction to Linear Algebra

2 Reading Quizzes: 2 — 3 questions
1 Skill Quiz: 4 — 7 questions
Around 110 questions

STACK Assessments in 1st Year Courses

MNS 1b — EM 1b

3 Reading Quizzes: 3 — 5 questions
1 Assessed Quiz: 7 — 10 questions
Around 200 questions

MNS 1a

3 Reading Quizzes: 5 questions
1 Assessed Quiz: 7 — 10 questions
Around 240 questions

Calculus & Applications
1 Reading Quiz: 4 questions
1 Skill Quiz: 10 questions
Around 150 questions
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STACK Assessments in 1st Year Courses

700 used questions
+

300 unused questions

1000 questions



‘What is a good quality CAA?

Use all the tools we have...

General feedback
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Review our Assessments

Quiz level review

Question level review

Advantage of e-Assessment: we have all the data stored.
v Marks

v Time
v Attempts
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Review our Assessments — Quiz level

Marks Distribution

S Time Distribution
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‘ Review our Assessments — Question level
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Are all random versions equal?
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Thank you for attending!

You may want to prove that:




